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Please check that this question paper contains 8 printed pages and 2 pages of maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i)
(i)
(iii)

(iv)

(v)

(vi)

(vii)

There are 22 questions in all.
All questions are compulsory.

Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

Question numbers 8-13 are short answer questions carrying 3 marks each. Out of
which one question is a value based question. Answer to each of these questions

should not exceed 80-100 words.

Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and labelling of
geographical features on maps carrying 5 marks each.

Outline maps of the World and India provided to you must be attached within your
answer-book.

(viii) Use of templates or stencils for drawing outline maps is allowed.

1. IO A HeHhl, TcAel, Al 3 983 o T i 91 UTHioT st ufaey foreptad gar & 2

[

Which form of rural settlement pattern develops along roads, railway-lines, rivers and
canals in the world ?

2. YRAH IS WY O T i whid G R Jenad i Feeh e i Sl & 2 1

Which stream of migration recorded the highest number of migrants at the level of
intra — state migration in India ?

3. YRAH UL & W GEh % G o o0 i Ot Fared e STReE € 2 1
Which is the apex body responsible to improve the quality of roads at national level in
India ?

4.  “BF Y S Teh A [oehiad ek STTHIT § 9 Tk & |7 =1 G771 Sy | 1

“The Volga is one of the most developed inland water-ways in Russia”. Justify.
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IR HIT Y, HT Fa] T ST EAT DI AET & MR T IR HIT |

Classify rainfed farming on the basis of adequacy of soil moisture during cropping
season.

IReET Faen | e ey e’ 4 i e ?

How is ‘node’ different from ‘link’ in transport system ?

farver TR T WIS |UEUT WUl BF %, T o SRIER 3TIER 1 § ? Ueh HRUT WL HINT |
Why has gathering little chance of becoming important at the global level ? Explain
one reason.

‘TR 3R A TferTes ol € I SUeRT SRTERUT Wied 39 o I =AF8Td ey | 3x 1=

“Nature and humans are inseparable elements”. Justify the statement with suitable
examples.
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Study the given diagram carefully and answer the questions that follow :

50+ Changes in Shares of Land-use Categories in India : 1960-61 45 46
454 and 2008-09
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(9.1) Which land use category has shown the highest increasing trend ? What percentage
in reporting area has increased in that category, during the given period ?
(9.2) Explain any two reasons responsible for the increasing trend in that category.
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Note : The following question is for the Visually Impaired Candidates Only in lieu
of Q. No.9:

Which land use category has shown the highest increasing trend in India ? Explain any
two reasons responsible for this increasing trend.

10. f3u T AFTS 1 WEEHYEE e ST 3R 38 i XU T oot % sw fafew 114+2=3

o |

0 © 10T 4

s

(10.1) Wﬁqn@wﬁﬁaﬁﬁﬁéﬁéwaﬁlwaﬁﬁﬂaﬁrwww |
(10.2) TG &Y i el O fawarett & Soorg iy |

Study the map given below carefully and answer the questions that follow :

(10.1) Identify and name the canal shown in the map.
(10.2) State any four features of this canal.

e ; F=fArEd vee Faa gieattad wdhenfedt & T g.d. 10 $ = W E

6% Sol-Te AN THS! AT i [l i foreioansti sl e ity |

Note : The following question is for the Visually Impaired Candidates Only, in lieu
of Q.No. 10.

Explain any three features of the Great Lakes — St. Lawerance Seaway.
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11.  9Ra & Ifed 3R 37 i arior aiadr & & dF 3T T SIS | 3x1=3

Distinguish between clustered and semiclustered rural settlements of India, stating
three points of distinction.

12.  SHIHUT TTHM o Tohel di Tereioaatt 61 901 shifew | 3x1=3

Describe any three features of Konkan Railway.

13, “dTg UGl SEIfASIId, WOTST 3R gt & foft aigd g1f-ehRes eidm & 1 U el e Jodt
! AT FHIT A T 5 T a1 il U0 T T H FeTIF & qohdl € | 3x1=3

“Air pollution is very harmful to flora, fauna and property.” Explain any three values
which can help in maintaining pollution free air to some extent.

14, ¥9R % fafir= 39 # yefad fHate $ & 31 7R %4 9 § 2 Fale 0 % 3 RIS 7=
fersToaati st U i | 1+4=5

What are the two types of subsistence agriculture practised in different countries of the
world ? Describe the main features of these types.

15, “agdt g | o HROT IeI STt 1 STIE WHad: IRA o 9oy Igf gAT € 7 39 FH2F 6
fareeteoT Sifsw | 5

“Scarcity of water on account of its increased demand, possess possibility the greatest
demand in India.” Analyse the statement.

16.  “Eol T TR & fohr o ToTT STRETT foheel Ui ShReh h SATET iy | 5x1=5

Explain any five factors responsible for the development of ‘Hugli Industrial Region’.

17. SHEET o Ocg 9 7 MU & 2 TN H STHEEAT o [T sl gHiferd s aet 9 Himiioress
HIh T 3TN Gied TG ST | 1+4=5

What is the meaning of density of population ? Examine the four geographical factors that

influence the distribution of population in the world with suitable examples.

18. & UAM W T JH aret e fafy=r feafaat & g7 &t s € 2 sirenfe feafd 6t
TATTET e STet Toheel R ShIRehl ol T SHiFeTT | 1+4=5

Why do large scale industries choose different locations ? Explain any four factors
which influence the industrial location.
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19. “9Rd | SEE B FAGAF [I0T; SHEEn AR Wfifdw T AHEISTs 3d HRe & o
A T Uehe AT § |7 IUIFRT II0N Hied 39 FI i g HIfT | 5x1=5

“An uneven distribution of population suggests a close relationship between population
and physical and socio-economic factors.” Support the statement with suitable examples.

20. e foehrg 9 1 AU € 2 A o o TN SRl hl fargei T shifew | 1+4=5

What is human development ? Analyse the four pillars of human development.

21. WER & KT 7T I TE-gats 9 K@ me g g @6 A, B, C, D 3R E &
TEEH HIST T STeh Fel A1 A & T8 TR i Heg § 399 919 Trel T8 [@rel W
foarau - 5

(A) %A H IT T Teh 8T 39
(B) TaTeT Trevr = v &

(C) IR HEIEdig YT o i LI
(D) TS T T
(E) 3TRIgIT a1 ga

Identify the five Geographical features shown on the political outline map of the World as
A, B, C, D and E and write their correct names on the lines marked near them with the
help of the following information :

(A) A large country of Europe in area.

(B) Anareaof subsistence gathering.

(C) The terminal station of a ‘trans-continental railway’.

(D) A major sea-port.

(E) An international airport.

e ; F=fArEd 79 oo giteartaa wherntedt & fou gv7 9em 21 & ©H WE
(21.1) Y & TG 31T A% et I HT AW @y |

(21.2) TaTesh TuEoT & fRdl T W &7 %1 919 fafay |

(21.3) ST IR FeTEIrg YeTd I o1 Had aiverdl LI i a1 e ?

(21.4) =T SR % TET qe W e Tt T T wE o AW ey |
(21.5) 3THIHT & I IAUTEd! STRILE a1g Tw- &1 99 e |
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22.

Note : The following questions are for the Visually Impaired Candidates only, in lieu
of Q. No. 21:

(21.1) Name the largest country of Europe in area.

(21.2) Name any one major area of subsistence gathering.

(21.3) Which is the westernmost station of Australian Trans-Continental Railway ?
(21.4) Name any one major sea port located on the eastern coast of South America.

(21.5) Name the southernmost international airport of Africa.

URA & U 7T IS T@-THres B Fefafad oefon o Suged foedl d 391 3 396
T fafEn 5

fereh TR T (2011) |

i) w4
(ii) HUTE T SO IAEH T |

(i) e # f¥rd Wiweemy WRIfTh uh |
(iv) SUETE | fRd wiEe ® T @ |
(v) ek | fer SR arg ae |

Locate and label the following features with appropriate symbols on the given political
outline map of India :

(i)  The most urbanized state (2011).

(i1) The leading cotton producing state.

(iii)) The Software Technology park located in Punjab.
(iv) The major coal field located in Chhattisgarh.

(v)  The international airport located in Karnataka.

e ; F=fArEd Tee ot giteartaa whertedt & fou ge 9@ 22 & ©H WE

(22.1) RA H1 Fad 3T TR T99 B T8 2

(22.2) 9IRA 3 HUH 3 VN ST T I AW feliay |
(22.3) UTE ¥ T WHEeRR WRNRTE a1 i A fafay |
(22.4) TUOETE | R S H TE @H H AW @ty |
(22.5) e § e SR a1 T H AW @y |

64/1/2 7 [P.T.O.



Note : The following questions are for the Visually Impaired Candidates only, in
lieu of Q.No. 22 :

(22.1) Which is the most urbanized state of India ?

(22.2) Name the leading cotton producing state of India.
(22.3) Name the Software Technology park located in Punjab.
(22.4) Name the major coal field located in Chhattisgarh.

(22.5) Name the international airport located in Karnataka.
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